<CHENYRANY) IR o>

B 2 XY Simulation ZIgigtH
O 842 U Scrap &F 27 : Ton% Cost & FHRHE MaxX|E 12{5t0 =&
O dE2MOE It H42ABE 23 TR HEX| 1
O SE2XE 153 ST 2 U2 FREEE LM3HA| €21 8ZH|E 12
B HEH0E I O|BLA ALETH EH
O =747 : Line Pipe Steel 7|&
- 8M2F: 200Ton , S 0 E(Heavy Scrap) : 20Ton , HMR : 80.9%
- AMAEISE S 100%, ZU/BA|E HEME) 7+

g e A2 AIEE 2F
025712 (g/mole) 32 = cte| C Si Mn P
C@IR}at [g_/m()le) 12 ﬂﬂ A % 4.10 0.36 0.47 0.07
Si@IXEE (g/mole) 28 E5 M8 % 0.08 0.23 0.20 0.01
Mn# X+ Ef (g/mole) 55 A % 4.02 0.13 0.27 0.07
PRIXIE (g/mole) 31 g 8,833,000 294,800 | 583,000 145,200
as '3 ¥ miole 735,409 10497 | 10,612 4,688
HEYUS (Kg) 220000 rle 367,705 10497 | 5,306 5,860
E4(Kg) 200000 gaiday
B2 0% (Kg) 20000 L 8236583 | 235122 118854 | 131,259
=11 !
HMR (%, 844 2/F 13 90.9 XA @R ML Nm3 8,722

O Line Pipe Steel2| SHdE(Max) 12{A| AATE 8722Nm3 0|4 F El0{orEt
- 7|Ef B|&hshd Ao 0|9 M3td fAs NBSHE| g

BSE2E T2 AT 0|12 SEY 2H

O =714d7d : Line Pipe Steel 7|&
- 4% : 200Ton , & 18 (Heavy Scrap) : 20Ton , HMR : 90.9%
- 8425 1400°C, B|E2 HEHE , 25 1,600°C 82 7H8

2 (wace| oo | Gh| o9 2 |wm| cC Si Mn P
C | 2025 |KIK'Kg| 94 | MJKg sHEE | % 4.10 0.36 0.47 0.07
=3 =]

Sl | 091 |KUK'Kg| 2035 | MJKg SEYE | % | 008 b | B | om

. F 27 07
Mn | 0835 |KIK'Kg| 697 | MJKg = % 4.02 — 0.2 0.0
8,833 295 583 145
P 061 |KJK'Kg| 3105 | MJ/Kg 2 Kg
mole | 735408 | 10,497 | 10,612 | 4,688
27 | 082 |KIKKg
mole | 367.705 | 10.497 | 5306 | 5.860
waLY
L |8.236583 | 235122 | 118,858 | 131,259
XA TG Nm3 8,722
et Kg 12,460
"Qﬂ g '_'3 KJ 85,50?,555| 8,706,034 I4,15U,8?1I4,526,174
gAY KJ 104,000,644
rd 3=1
3‘335 e + 577
[=]

G2 +57720|Lt SLHA| 2B E
a2
=

s 2l Slag 2T S7t, Je|n FeEl= 2
9 M2 omjo| FULMo= A SLEHSES

gd4agt

=

% MMl LIRS Y2 Di+2A(Basic Oxygen Steelmaking) MR



